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Instructions for the candidates :-
1, wWienedi OMR StTR—UA$ W U1 Yz YRl HHD (10 3l i)

araey fordd |
Candidates must enter his/her Question Booklet Serial No. (10

Digits) in the OMR Answer Sheet.
2. TRIeTTef} TATHHT SO IeaT H B SN G |

Candidates are required to give answers in their own words as far
as practicable.

3. <R Ok TR W RY gu sie gl Ml axa §)
Figures in the right hand margin indicate full marks.

4. gel ®I LIFYdd UeH & o1y wRiefil o7 15 e &1 srfaRed |wa
= T B |

15 minutes of extra time has been allotted for the candidates to

read the questions carefully.



I8 Y-gRAHT a1 Wosl H & : WUS—3I UG WUS—1 |
This question booklet is divided into two sections : Section-A and

Section-B.

Gus—31 H 100 IS UeT §, OH 9§ b8l 50 UeAl BT IR <l
AFEr 21 50 Ul W AP P TR I W UAH 50 BT B HATDHA
BT Udd & folu 1 o giRT €1 9ol SR < & foy Sucre
PRI T OMR SR 95& H QU MU |El fdbeq &l il / Blal dfd

U9 9 We | FA ff UR & gReR / Rd Uy / =i [/

ARgA e &1 OMR SR =& H WM &H_AT 741 &, ¥ URomM
3= BT |

In Section-A, there are 100 objective type questions, out of which
any 50 questions are to be answered. If more than 50 questions
are answered, then only first 50 will be evaluated. Each question
carries 1 mark. For answering these darken the circle with blue /
black ball pen against the correct option on the OMR Answer
Sheet provided to you. Do not use Whitener / liquid / blade / nail
etc on OMR Answer Sheet, otherwise the result will be treated
invalid.

Gus—q H 30 ofg ITRIY U B, U & oy 2 i FeiRa &, o= 4
=1 15 ULAl BT IR <1 AR 2| 39 AT 39 WS H 8 qrel



TR yed fou v E ude us @ forv 5 o fAuifRa 2 RE @
fohal 4 T &1 IR <7 S7fard 2|

In Section-B, there are 30 Short answer type questions, each
carrying 2 marks, out of which any 15 questions are to be
answered. Apart from these, there are 8 long answer type
questions, each carrying 5 marks, out of which any 4 questions are

to be answered.

8. ¥l UBR & Seldi-h SUBRUT BT IUANT YUl dferd ¢ |

Use of any type of electronic appliance is strictly prohibited.

TYus—3 / Section-A

axdf~ss 939 / Objective Type Questions

U GT 1 9 100 db & AP U & A1 IR Aoy fev v & 599 9 s
AL B | AU ERT g4 T e fadwed & OMR-SR gRast W fafed o | foi

50 Ul BT Bl SR < | (50x1=50)

Question Nos.- 1 to 100 have four options, out of which only one is correct.
You have to mark, your selected option on the OMR- Sheet. Answer any 50

questions. (50x1=50)

1, M THARIT Hola: fhd qe @ AR © 2
(A) gTa @l (B) SUHTaRT I+
(C) B TI= &I (D) 3TH BT



To which factor economic problem is basically related to
(A) Choice (B) Consumer’s Selection

(C) Firm’s Selection (D) Revenue

U FHTOATE] JfferaRel BT Hol $evd BIAT § —

(A) JABTED ST (B) amidfe we=ar

(C) HATHT HHAT (D) 31f&remdH i Hedror
The main objective of a Socialist Economy is

(A) Maximum Production (B) Economic Freedom

(C) Earning Profit (D) Maximum Public Welfare

fa srfaraRen # dFd 93 & MR W iy forw o € 2

(A) ToTE= (B) wHTSTaTE]

(C) fafera (D) gutrareT

In which economy decisions are taken on the basis of Price
Mechanism ?

(A) Monarchy (B) Socialist

(C) Mixed (D) Capitalist

W= SuAfEr =

ATU AMU
(A) 3o (B) 5o

AQ AQ
©) 27w (®) Tw

Marginal Utility



ATU AMU
(A) 3o (B) 5o

AQ AQ
v v

A A STAAAT 99 &1 FHE1 orar § —

(A) Suanfrar gfg fram (B) STNfirar g4 frem

(C) uforermue | (D) Syaifirar Rer
Law of Equi Margial Utility is called —

(A) Law of increasing utility (B) Law of decreasing utility
(C) Law of substitution (D) Law of constant utility
f=rfeiRaa @i Yol @rd H T8l e ?

(A) TRHRNI AT (B) Ul 3Rl

(C) wrcer fryar (D) Frsf @t

Which of the following does not come in capital account ?
(A) Official Transaction (B) Unilateral Transfer

(C) Direct Investment (D) Private Transaction

=1 § ¥ S ISNAar g [aeelyor § Iudrad Aded @l ud § 2

(A) STRAFAT I BT NET DI T2 B

(B) Iger fag W ISIaT ab ol fa=g &) IR I=Idex 8FT A1y |
(C) (A) 3R (B) =T

(D) 57 & P1g T

Which of the following is Consumer’s Equilibrium condition

Indifference Curve Analysis ?



(A) Price line should be tangent to Indifference Curve.

(B) Indifference Curve should be convex to the origin at the point of
equilibrium.

(C) (A) and (B) both

(D) None of these

HAT Ih P HUTHD Sl & BRI & —

(A) Tl HHEd SUIIRTT &1 99

(B) Mg gTg

(C) ufc=eimu= yHrd

(D) S |+l

Reason for downward slope of Demand curve is —
(A) Law of Diminishing Marginal Utility

(B) Income effect

(C) Substitution effect

(D) All the above

fAhreiicl 29 o oI Hifd & S99 & —

(A) S fHToT BT g@Tar <=1

(B) anfefe ReRar g911q I
(C) fafairt & forg Al & Tahfd &
(D) 7 & |

Objective of Fiscal Policy in Underdeveloped countries is —



(A) to promote capital formation.
(B) to maintain economic stabilization
(C) to mobilize resources for investment
(D) All of these
10.  9MfR® Uil &I Fad fbar Sdr g —
(A) RTT S (B) STRINT w4 qud & oS @ w9 A
(C) (A) 3R (B) = (D) s Ig &l
Aggregate supply can be presented as
(A) National Income
(B) Addition of consumption and saving
(C) (A) and (B) both
(D) None of these
1. 9 % 9 o9 A1 dod 98 8 ?

(A) T BT MaTIHany AT Bl ®
(B) St Hifad & &

(C) |t &7 debfouds YT &) BT &

(D) 3MaeHaT H PIg R -T&! BT &
Which of the following statement is true ?
(A) Human wants are limited

(B) Resources are limited

(C) There is no alternative use of resources



12.

13.

14.

(D) There is no difference in wants.

e arfegeaRe ¥ S &1 dged R YU JGNR & WR A ygd FeiRa 8l

ST 8, 99 39 P8l Il & —

(A) = {7 DT g2 (B) 3mfererd ART @l &2

(C) 3Mif¥rer AT &1 <20 (D) ReR AT &1 <21

If income equilibrium level in the economy is determined at the level
before full employment, it is known as the state of

(A) Deficient Demand (B) Surplus Demand

(C) Partial Demand (D) Constant Demand

“3refe oF &1 fag= 21 fhddr ®oe § °?

(A) TsH ey (B) Aretet

(C) ifa=a (D) Sgerer

Whose statement is “Economics is the Science of Wealth” ?
(A) Adam Smith (B) Marshall

(C) Robbins (D) Samuelson

SYAIAT BT hadr=d e foaa fear g ?

(A) AT (B) 91,

(C) & wd et (D) Repref
Who propounded the Ordinal Theory of Utility ?
(A) Marshall (B) Pigou

(C) Hicks and Allen (D) Ricardo



15.  fe=forRaa & o a1 o A 8 °?

(A) TS <RI el = HIT & A 2 |
(B) WIftes 3r=RTel 1fcRes AT &F |1 § |
(C) (A) 3R (B) =T
(D) ST & ®1g &
Which of the following is true ?
(A) Deflationary gap is a measure of deficient demand
(B) Inflationary gap is a measure of excess demand
(C) Both (A) and (B)
(D) None of these
16. USId &I HIAd 98 SF UR HR &I HIT dgh RIAd Sl & —
(A) =TI TR (B) SR @ 3R
(C) it TR (D) ¥ @ @R
Increase in the price of Petrol, the demand curve of a Car shifts.
(A) Rightward (B) Upward
(C) Leftward (D) Downward

[aN

17, BI9 &1 b NG [Fdad e Fae w@fd &Rar & ?

(A) a9 IR 3y (B) 3 3R SUHIRT
(C) gaa 3R foaer (D) @™ 3R =1+
Keynesian Multiplier establishes relationship between which of the

following ?



18.

19.

20.

(A) Investment and Income (B) Income and Consumption

(C) Saving and Investment (D) Profit and Loss

qeRerdr ash faveiyor # 1 a¥qall & dra A &1 rgurd <eriar §rdr & —
(A) DFT T A (B) Aoyl 9% ¥

(C) Tewerar o= & (D) 7T a% ¥

The ratio of exchange between two goods in Indifference Curve
analysis is shown by -

(A) The Price Line (B) The Indifference Curve

(C) Indifference Map (D) Demand Curve

AT Te] BT SMWMUT AR 8 SW AET W NIl ofdl § o Ua AfdEd

BT W WIS Sl &7, fhdsr due § ?

INERS RS (B) 3==H

(C) w4 (D) HgereT

“‘Demand is an amount of a thing which a person is willing to buy at a
given price”. Whose statement is this ?

(A) J. S. Mill (B) Benham

(C) Mayers (D) Samuelson

RISHTR 0T T STHGTA] DI & 2
(A) D1 (B) &=
(C) Uiy (D) AR

Who is the originator of Employment Multiplier ?

10



21.

22.

23.

24.

(A) Kahn (B) Canon
(C) Pigou (D) Senior
ST & aRard e Rigia &1 ufares feas faar ?

(A) wTeTet (B) o ¥io Yy

(C) o v B (D) TsH ey

Who has propounded Liquidity Preference theory of Interest ?
(A) Marshall (B) A. C. Pigou

(C) J. M. Keynes (D) Adam Smith

ITEH R ISR BT &R R SI1ar & —

(A) 7Y (B) g&T I ¥
(C) Trsh o (D) g7 % =
The level of output and employment declines in
(A) Depression (B) Inflation

(C) Boom (D) All of these

RA H 1969 H {1 e dabl &1 IIIHRor febar rar ?
(A) 14 (B) 24

(C) 15 (D) 10

How many Scheduled Banks were nationalised in 1969 in India ?

(A) 14 (B) 24
(C) 15 (D) 10
AT &) oI o1 919 F=fofRad & 9 o fafr @ =8 fooar S g 2

11



25.

26.

(A) Tt @t Afey (B) smgmfr Ofy

(C) fa=g fay (D) Saure A

With which method Elasticity of Demand is not measured ?
(A) Total Expenditure Method (B) Proportionate Method
(C) Point Method (D) Product Method

d H UTEd Adl GuR vq FEfaRad # fow afafa o1 T g ?
(A) TSI Tetar |fAfa (B) IrsuriRar \fAf

(C) =T wfafe (D) =iehaci A

Which committee was constituted for suggesting consumer service
improvements in banks ?

(A) Raja Chelliah Committee (B) Goiporia Committee

(C) Verma Committee (D) Chakrabarty Committee

T ¥ IR &1 BRI —

(A) <1 B I&] DI BAT Sl B ST

(B) <1 g8 o &l dHa R ST

(C) RIHIY~ R &I S Hdl &1 ST

(D) Rep g% ! AT IR ST

Expansion in demand occurs due to —

(A) Rise in the price of the given commodity
(B) Fall in the price of the given commodity

(C) Rise in the price of substitution goods

12



27.

28.

29.

(D) Fall in the price of complementary goods

P A1 G =0T 1 gRATTHS SUg g § P
(A) §& < (B) Afire @@

(C) gl aIeIR @l by (D) g 1Y IFUTd H ulRacd

Which is not a quantitative method of credit control ?
(A) Bank Rate

(B) Moral Suasion

(C) Open Market Operations

(D) Change in Cash Reserve Ratio (CRR)

3T Ig- WX YA b I=gall B ART &er <dT 7 ?
(A) =T 9] (B) fftb a%g
(C) (A) 3R (B) < (D) $ = pIg ALl

With an increase in income consumer decreases the demand of which

goods ?
(A) Normal goods (B) Giffen goods
(C) (A) and (B) both (D) None of these

[aN

BT b g & G4y 2 —

(A) T¥TagEl HRT | (B) ¥ & IR o\ 9

(C) gl IR @l foharall | (D) ATl @1 SArereiierdr |

Keynesian Theory is associated with —

(A) Effective Demand (B) Say’s Law of Maket

13



30.

31.

32.

(C) Open Market Operations (D) Flexibility of Wages

IRTE ARTal | affafora € —

(A) Pd HIT BT T

(B) #iffepi &1 ASIgy

(C) &1\1 =g

(D) ScUTE®d @1 AT WA DI Yol BT AT
Explicit Cost Includes -

(A) Expenditure on Raw Material

(B) Wages of Labour

(C) Insurance Expenses

(D) Interest of entrepreneur’s own capital

\WaN

Hifed TRTd &7 gcd HIF T8l § 7

(A) T orTd (B) A= Y

(C) ar&ifde oITd (D) 3Tt AT
Which is not a component of Money Cost ?

(A) Explicit Cost (B) Normal Profit
(C) Real cost (D) Implicit cost
HH BT ™ fefdr & oid

(A) AR>AC (B) AC>AR
(C)AR =AC (D) AR<MR

Firm earns profit when -

14



33.

34.

35.

(A) AR>AC (B) AC>AR
(C) AR = AC (D) AR<MR
“AOIGN] Heldl JdaRl § YUl IGHIR &I &T &I Y &l 2 s

AR ?
(A) g, (B) &=
(C) #refet (D) Repref

‘Wage cut maintains full employment in the economy.” According to

whom ?
(A) Pigou (B) Keynes
(C) Marshall (D) Ricardo

S0 THO B B JRID S SRl AR | 99 ypIferd gs ?
(A) 1926 (B) 1936
(C) 1946 (D) 1956

J. M. Keynes famous book “The General Theory” was published in

which year ?
(A) 1926 (B) 1936
(C) 1946 (D) 1956

P P FUT B SUSIAT g1 P folU I AT SU HAT © 7
(A) XUT X€ §T B (B) Ra<d U1 Y 9a7 o
(C) TR&HRI Uyl &l @l &R (D) IRBRI gfafaai &l daas

15



36.

37.

Which method is used by the Central Bank to increase credit
availability?

(A) Raising Repo Rate (B) Raising Reverse Repo Rate

(C) Buying government securities (D) Selling government securities
FrforiRad § | @19 AUIR® d& & 0T o7 B GIaeT I FOCH ol © 7
(A) g T (B) affass

(C) arg fosfoT (D) faf¥a u=i &1 wer

Which of the following is not the component of granting loans by
Commercial Bank ?

(A) Cash Credit (B) Overdraft

(C) Credit Creation (D) Discount of Bills of Exchange
oI debi §RT k0T [FHI0T &1 Ufha HATG 81 Sl & STd—

(A) FoT # 5 ST T T & S 2
(B) 3mRférd 3rgurd g & Sl © |

(C) & TTeh, T BT W ¥ |

(D) BT 99 9USR, URME ST & IRIER &1 ST 2 |

Process of Credit Creation by Commercial Banks comes to an end
when—

(A) Fresh deposits with bank become zero

(B) Reserve ratio becomes zero

(C) Money Multiplier becomes zero

16



38.

39.

40.

(D) Total money reserve becomes equal to initial deposit.

ANT &) A fhd= YR &Y Bl & 2

(A) = (B) df=r
(C) & (D) &Ta

How many types of Elasticity of Demand are ?

(A) Three (B) Five

(C) Six (D) Seven

Uch SRR AN dh & Heg fawg W AT B A —

(A) T &t (B) s#1$ &l

(C) s g1l (D) 3% & BIg el

The Elasticity of Demand at the mid-point of straight line demand

curve-
(A) will be zero (B) will be unity
(C) will be infinite (D) None of these
3efeR H IUAIRIAT BT 3R —

(A) fHHT T DT MITIDAT I DR bl 2Afde
(B) 3fHg

(C) =
(D) ATIETIEHT

Utility in Economics means :

17



41.

42.

43.

(A) Want satisfying power of a commodity
(B) Pleasure

(C) Happiness

(D) Usefulness

Iod TSI I HRC BT P A WR ST & 7

(A) =™ (B) S==
(C) fa= (D) 9=

What level of satisfaction is shown by higher Indifference Curve ?

(A) Zero (B) High

(C) Low (D) Same
SITIRASITHR AT aeh - H§ | a7 fazman & ?

(A) Tof JafreeR AT (B) gt SrereR AT
(C) THTE 71T 1 ar (D) |MeTd: SAraER AT

Rectangular Hyperbola Demand Curve shows —

(A) Perfect Inelastic Demand (B) Perfect Elastic Demand
(C) Unitary Elastic Demand (D) Relatively Elastic Demand
aRaTEN AU & 9 & JJAR IUE & Y2H AR H —

(A) I 3R i Fd SaTE 98d & |

(B) T SUTEH 9%l ®

(C) sfrd Saure fiRar 8

(D) |1 ITE T BIAT @

18



44.

45.

46.

According to Law of Variable Proportion in the first stage of production-
(A) Both Marginal Product and Average Product rise.

(B) Marginal Product rises

(C) Average Product falls

(D) Marginal Product is zero

fFrrfeiRaa 5 21 sifdd PRy |

(A) TVC =TC-TFC (B) TC=TVC-TFC
(C)TFC=TVC +TC (D) TC=TVC xTFC

Which of the following is correct ?

(A) TVC =TC-TFC (B) TC=TVC-TFC
(C)TFC=TVC +TC (D) TC=TVC xTFC

®H & o fEfaRad # fa od & {1 ave W 31fdawad R ?

(A) Si8f MR = MC (B) S8 MC as% MR &1 I & &I
(C) (A) 3R (B) & (D) 4 ¥ &g el

With which of the following condition, firm will get maximum profit ?
(A) Where MR = MC

(B) Where MC curve cuts MR from below

(C) Both (A) and (B)

(D) None of the above

fFfeiRad & f5d aoR QoM § WM S I AT RONHED F8l &

JHdr g ?

19



47.

48.

49.

(A) THIIBR (B) TaIiEres T gferamiirar
(C) (A) 3iR (B) &I (D) ‘{U’f gferafirar

In which market Marginal Revenue (MR) never becomes zero or

negative ?
(A) Monopoly (B) Monopolistic Competition
(C) (A) and (B) both (D) Perfect competition

qH—fdees fowg 9 I~ BT © ofd —

(A) TR>TC (B) MR>MC
(C) TR=TC (D) MR<MC
Break-even point shows -

(A) TR>TC (B) MR>MC

(C) TR=TC (D) MR<MC

37 A1 WA R Al 9% DI DA qAT Yfd DI AHT H GAAD Hae Rl

IT HRAT 8 P
(A) T @Y & (B) gff & <
(C) yfdt &1 ™ (D) Yfdf weA

If other things remaining the same, what does the positive relationship
between price and quantity supplied of a commodity signify ?

(A) Elasticity of Demand (B) Elasticity of Supply

(C) Law of Supply (D) Supply Function

9 el g% @ gfd H erguifae uRaxs SHd! HIHd H B dlel JATUTID

aRer < st BT & A of @) s an -

20



50.

51.

(A) SHIE A HA (B) TP & SRR
(C) o189 3If® (D) 3=

When the proportionate change in the supply of goods is more than the

proportionate change in its price, the Elasticity of supply will be —

(A) Less than Unity (B) Equal to Unity
(C) Greater than Unity (D) Infinite

Es =0T af & f gl @ o —

(A) gofa: deeR 8 (B) qoid: dei@eR
(C) ®H e & (D) 3%T% @MEER &

Es = 0 means that Elasticity of Supply is —

(A) Perfectly Elastic Supply (B) Perfectly Inelastic Supply
(C) Less Elastic Supply (D) Unit Elastic Supply
THIYDBRI IR Bl Fr=faiad § o9 A faRivar =81 2 ?

(A) T fasdr 3R 31fdre war

(B) THIfI®RY ¥ d1Hd fAeiRe

(C) BHl & ¥ 9 fIsprI= &1 wad=ran

(D) e RATYI &1 74T

Which of the following is not a feature of Monopoly Market ?
(A) One seller and large number of buyers

(B) Monopolist as a price maker

(C) Free entry and exit of firms

21



(D) No close subsitutes

52. XTSI MY H1 TOT H fRy aftaferd fahar Siar § —
(A) R IEG3TT BT I Td faha
(B) wegacii awqy

(C) TRIRYT YT

(D) 918 =if~Hq U wd Hay
Which is included in the calculation of National Income ?
(A) Purchase and Sale of old commodities.
(B) Intermediate commodities
(C) Transfer payment
(D) New final goods and services
53. GNP s@@hifas a1 & ?

(A) GNP sraeiifds = 1< GNP yq0g

qredfds GNP
(B) GNP srawhifirey = T S EF aaGifjg‘P x100
_ drdfd® GNP
(C) GNP 3raepifcsd = —5< GNP
(D) 574 9 1g el

What is GNP Deflator ?

Nominal GNP

(A) GNP Deflator =
Real GNP

x100

Real GNP
Nominal GNP

(B) GNP Deflator = x100

Real GNP
Nominal GNP

(C) GNP Deflator =

22



54.

55.

56.

57.

(D) None of these
fFrforRad § | @19 |1 981 &1 R 78 7 ?

(A) fafa o1 Aregs (B) BHa Rerdr

(C) Iea w9 (D) </ @T & SHS
Which of the following is not a function of money ?
(A) Medium of exchange (B) Price stability

(C) Store of value (D) Unit of account

q&T & MU BRI & Fia (forRad 9 o {69 wfia favar smar g 2

(A) faferrar 1 Aregs (B) qea &1 d=

(C) I~g 3T YR (D) 7g &1 919

Which one is included in the secondary function of money?
(A) Medium of exchange (B) Store of value

(C) Basis of credit (D) Measure of value
IRA H JfhT &9 & GIR | 9T ST 8T © 7

(A) 98 1991 (B) RRy=A BT

(C) arg0 o XSS BT (D) Baa (A) iR (B)
Which is associated with reforms in the Banking Sector ?
(A) Year 1991 (B) Narsimham Committee
(C) Y. V. Reddy Committee (D) Only (A) and (B)

T d& o1 f=ferRad § @9 a1 a1 798 8 ?

(A) A HT $T TSR (B) TR&R BT 9

23



58.

59.

60.

(C) facel o @iwi &1 WRetw (D) A foHAToT

Which of the following is not the function of Central Bank ?
(A) Monopoly of Note issue

(B) Banker of the Government

(C) Custodian of Foreign Exchange Reserve

(D) Credit Creation

IR BT YoTTell BT e DI 8 ?

(A) R4 9% 3ifw sfosan (B) ¥¢T 9% 3if% sfosam

(C) gfvie g3 il gfvsal (D) ¥R SitgT d1 |
Who is the custodian of Indian Banking System ?

(A) Reserve Bank of India

(B) State Bank of India

(C) Unit Trust of India

(D) Life Insurance Corporation of India

frferRad # & fhaaeT e Ry afafa | 2 2

(A) R gIR (B) dfdb7 guR

(C) &M H guR (D) JMERYT HREAT H GR
Which of following is related to Narsimham committee ?
(A) Tax Reforms (B) Banking Reforms

(C) Agricultural Reforms (D) Infrastructural Reforms

ReR Uoll & IUANT B T H&T 9T & 2

24



61.

62.

63.

(A) frraer (B) gt frrfor

(C) féremae (D) &7 ¥ F1E T
What is the consumption of fixed capital known as

(A) Investment (B) Capital formation

(C) Depreciation (D) None of these
3 gfg @1 faeRoT fefems H fhad gRI UKgd @ Ty ?

(A) TeH R (B) \refet

(C) <ifa= (D) #rgerar

Who gave the concept of Economic Growth in Economics ?
(A) Adam Smith (B) Marshall

(C) Robbins (D) Samuelson

e 3R aRISHIRY <l &7 § 2

(A) BEIART 3ma (B) g ama

(C) ff3ra sma OEIEsEE

Pension and Unemployment allowances are -

(A) Transferred income (B) Generated income

(C) Mixed income (D) Income earned
= § & B o wifta e eiT T8 g ?
(A) IR (B) 94T o

(C) vl &1 Il (D) a1 @R

Which is not the constituent of Revenue Receipts ?

25



64.

65.

66.

(A) Income Tax (B) Custom Duty

(C) Recovery of Loans (D) Service Tax

@ M AR Bl ITART & ATUTT BT FIT FEd © 7

(A) 3l fraer vgfa (B) 3 ga g=rd Ugfa

(C) 3freFa SuHIT Hgfy (D) ¥ ST Hgfa

What is the ratio of total income and total consumption called ?
(A) Average Propensity to Invest

(B) Average Propensity to Save

(C) Average Propensity to Consume

(D) Marginal Propensity to Consume

fhae I 3T @ SRGTh BT U YT fdar ?

(A) @I (B) I s

(C) ForicH (D) Trsfiret

Who has made the first attempt of National Income Accounting ?
(A) Keynes (B) Gregory King

(C) Kuznets (D) Gadgil

f=ifrd 5 @ o S 9o 8 ?

(A) M, (B) M,
(C) M3 3R M, (D) M, 3R M,
Which of the following is Narrow Money ?

(A) M, (B) M,
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67.

68.

69.

70.

(C) M3 and M4 (D) M1 and M2

Icare fafyy gRT TRe SIS &F 0T # fhd et oI & 2
R (B) SeureH @l
(C) aftfa e &1 (D) =g &l

What is added in Production Method of measurement of domestic

output ?
(A) Income (B) Output
(C) Value added (D) Expenditure

TRAT—UTYT (SITel) H =TS TR BT AT A 8T & 7
YEINE] (B) =iaH

(C) 3= (D) &=

What is the value of rate of interest at Liquidity Trap ?
(A) Average (B) Minimum

(C) High (D) Low

= T AR Rigra F=foRad # e w ik a=ar g 2

(A) TTael AT (B) gfcf

(C) Scure & (D) @i fa<t

Keynesian Theory of Employment depends on which factor ?
(A) Effective Demand (B) Supply

(C) Production Efficiency (D) Public Finance

Igfe MPC = 0.5 a1 uis (K) B8R —
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71.

72.

73.

(A) ¥ (B) 0

(C) 1 (D) 2

If MPC = 0.5 then Multiplier (K) will be

(A) ¥ (B) 0

(C) 1 (D)2

e qureh (K) = 4 a1 AET ST Ygia 8 —
(A)0 (B) 1

(C)0.25 (D) 0.75

If multiplier (K) = 4 then Marginal Propensity to Consume will be -

(A)O (B) 1
(C)0.25 (D) 0.75
ST 4S9 UUITell & §HY Af&ehier a2l § o —

(A) Rer faTma <= (B) siferaifera fafmar o=
(C) @ragef fafa <= (D) s & @I -7l

During Bretton woods system most countries had -

(A) Fixed Exchange Rate (B) Pegged Exchange rate
(C) Flexible Exchange rate (D) None of these

U g ST U §ER & 9qel YANT fhaT ST 8, dedkil & —

(A) b IR (B) &= IRy

(C) JIRHE™IH U (D) arfiard axqy

Goods, which can alternatively be used are called -
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74.

75.

76.

(A) Complementary Goods (B) Substitute Goods
(C) Comfort Goods (D) Necessary Goods

AR a3l & oy AT &1 99 9% @1 $HFd Td ax] & 917 & 49

e PR & —
(A) e TEE B (B) &TIcHeh e bl
(C) faRia |va=e1 &I (D) 31 ¥ B =l

According to Law of Demand the relationship between the price and
the quantity demanded of normal goods is -

(A) Direct (B) Positive

(C) Inverse (D) None of these

JATE e =1 § 9§ P9 8 ?

(A)C=1(Q) (B) Qx=Px

(C)Q=f(L,K........ ) (D) Q =f(C)

Which of the following is Production Function ?

(A)C=1(Q) (B) Qx=Px

(C)Q=f(L,K........ ) (D) Q =f(C)

“HaT W Aol AR a1 Hhe ugad § fbeg 39 <M1 ¥ HaT Hepae
Afed RT 2" I§ AT [HABT § ?

(A) FT3fer (B) o=

(C) forf (D)
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Inflation is unjust and deflation is inexpedient but of the two perhaps

deflation is the worse.” Whose statement is this ?

(A) Marshall (B) Keynes
(C) Lewis (D) Nurkse
77.  <re@ra 9 g w1 B 7 ?
CYEEIEE (B) wreeR
(C) qofaran AraeR (D) g deflaeR
What is supply in long period ?
(A) Inelastic (B) Elastic
(C) Perfectly elastic (D) Perfectly Inelastic

78. fa=ifed & o9 W& 8 ?

(B) U arfa gy = O AT R ST o

(C) (A) @ (B) &
(D) 37 A BIg &l

Which of the following is correct ?

. . National Income at current Price
(A) Per Capita income =

Population

National Income at constant Price

(B) Per Capita income =

Population
(C) Both (A) and (B)
(D) None of these

79. 3 T SHIR AT d81 MUiRd 8Idr & &l —
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80.

81.

(A) B AT B 3R FHol Yfd B aR1eR & (ADF = ASF)

(B) Bt AT W, el gfd Head | 31fe® & (ADF > ASF)

(C) |t ANT ®ead Tl Yfel Bl A &4 8 (ADF < ASF)

(D) ST & ®1g &

Income and employment equilibrium is determined where -

(A) Aggregate Demand Function is equal to Aggregate Supply
Function

(B) Aggregate Demand Function is more than Aggregate Supply
Function

(C)Aggregate Demand Function is less than Aggregate Supply
Function

(D) None of these

U3 qaT &1 Frifhd # ¥ B o0 B BT § 7

(A) STTTRS e (B) 3ifda Hew

(C) ISR ed (D) s7¥ & &
Which of the following values is less for paper money?
(A) Intrinsic value (B) Face value

(C) Market value (D) All of these

sreferaverr § ¥ ARF YA BT §d AN F7 BIAl © 2

(A) ISR 3 (B) Serlt @Y 3y

(C) ¥ 3y (D) 379 ¥ BIg &I

31



82.

83.

84.

What is the aggregate of all factor payments in the economy ?
(A) Market income (B) Income of entrepreneur
(C) National income (D) None of these

urerfde & | Aftaferd g 8 —

(A) oY (B) =T @MIR

(C) &g zem (D) 1% &1 wfl

Primary Sector includes -

(A) Agriculture (B) Retail Trading

(C) Small Industries (D) All of these

ARM ATd &% W YE TSI SATE BT Bl Al & —
(A) TR 3 (B) 9ddt faer
(C) =gl 3Ty (D) =faaTd 3
Net National Product at Factor cost is called -

(A) National Income (B) Gross Investment

(C) Domestic Income (D) Personal Income

TS HH S BT SYANT 39 fd=g & el & —

(A) STEf 3T B AT IATGHAT AT &R & a_IaR Bl &

(B) STEf &1 & WA STGHAT Aolg! &% F HH Bl &

(C) ST&f 5™ @ A IATehdT Holgel &% | AfH Bl ©
(D) SWad ¥ & I 7TEl

Every firm uses labour upto the point where —
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(A) Labour’s marginal productivity is equal to the wage rate
(B) Labour’s marginal productivity is less than to the wage rate
(C) Labour’s marginal productivity is more than the wage rate
(D) None of these

85. favg STe by ToTR @I faivar € —

(A) DI THITHRT gferanfrar

(B) ®Hadt JcUTEdR

(C) TohTiIpR &

(D) UepTiRrepY UfifTer d SfearereR aHl

Differentiated product is a characteristic of which market —
(A) Monopolistic Competition

(B) Oligopoly only

(C) Monopoly

(D) Both Monopolistic Competition and Oligopoly

86.  3Afcl ScYpIcl H ATerETT a3 BT Yfcd ah —

(A) x-31e7 R T+Iq BT &

(B) x-31e] & FHMR BT &

(C) (A) 3R (B) =

(D) 377 & BIg e

In very short period supply curve of perishable goods is

(A) Perpendicular to x-axis
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(B) Parallel to x-axis
(C) (A) and (B) Both
(D) None of these
87.  3lrd ReR Td dh —
(A) x-318T & AR el Y1 By 2 |
(B) y-318T & HHMER el Y41 el 2 |

(C) fRar & <19 =1ftre #m # St fdhar oy |

(D) 9edT &, T4 1 A= § e fhar Sy |
Average Fixed cost curve —

(A) is a straight Line parallel to x-axis

(B) is a straight Line parallel to y-axis

(C) falls as more units are produced

(D) rises, as more units are produced.

88. WX HEMI &I ARTd R HEA § ?
(A) T &rTa (B) 3R oImTd
(C) 3id &rTa (D) 3nfefe e
What is cost of self-owned resources called ?
(A) Explicit cost (B) Implicit cost

(C) Average cost (D) Economic cost

89. WM Y, URdd+ &) ¥ & —

(A) B JATTH H (B) 3iad e o
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90.

91.

(C) (A) 3R (B) (D) s & @I -7l
Marginal Revenue is the rate of change in
(A) Total Revenue (B) Average Revenue

(C) (A) and (B) (D) None of these

frfarRad & BI—w1 B T8l § ?

(A) I& B PAA Ud IHD! g & 19 AT TR B 2 |
(B) fcf g 9 & <V SWR & 3R I B |

(C) fRaTs avgell @ gfdd @ o 3miefigd draeR 2l @
(D) Sudad |+l

Which of the following statement is true ?

(A) Price and Supply of a commodity is directly related.
(B) Supply curve rises from left to upward right

(C) Elasticity of supply of durable good is relatively elastic
(D) All the above

AT B g T H R g ?

(A)%xmo (B)%xmo
©) =t (D) (A) 3R (B) &

Which of the following is Elasticity of Demand ?

Aq/q AP/P
(C)2LE (D) (A) and (B) both

AP’ q
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92. = 8§ 9 o9 T 81 g ?
(A) gaT &1 gRHT

(B) &1

(C) ufg 4|l Uy &7 A

(D) Hifds =g

Which of the following is not a stock ?
(A) Quantity of money

(B) Wealth

(C) Five hundred Rupee note

(D) Monetary Expenditure
93. IRl Td WAL & WA B TR # =R fRrae @1 g1 sEd § °?

(A) g1 Ifa (B) rawifey
(C) H=T IRt #el (D) =Y

A persistent fall in the general Price level of goods and services is

called -
(A) Inflation (B) Deflation
(C) Stagflation (D) Depression

94, WﬁﬁwiﬁCw%?
(A) HHTT ITEIT ygfa (B) STHRT &1 Silad fafg @R
(C) STHrT (D) got

Amongst the following what is C in multiplier ﬁ ?
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95.

96.

(A) Marginal Propensity to Consume
(B) Subsistence level of Consumption
(C) Consumption

(D) Capital

=ifhd H PI—AT HUF 3T T ?

(A) BT &1 ISR RIgT g9mE@qel 77 ) R 7 |

(B) STHIT UG 3T BT A SYHANT Bl HEeATal 2 |

(C) ®I=F & ISR g A AT &1 G W Hgalrdl |

(D) ®I=a =1 fauifad fobar fob gfd w2 s AT GRord &l 2 |

Which of the following statement is False ?

(A) Keynesian Theory of Employment depends on Effective Demand
(B) Relationship of consumption and income known as Consumption
Function

(C) Keynesian Theory of Employment is also called as theory of
Deficient Demand.

(D) Keynes propounded that supply creates its own demand.

TR = BT FTfIRad § B A1 BROT & ?

(A) Sraxpifad g2md (B) whifdep eammd

(C) (A) 3R (B) & (D) 4 ¥ &g el

Which of the following is the cause of a Trade Cycle ?

(A) Deflationary Conditions
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(B) Inflationary Conditions
(C) (A) and (B) both
(D) None of the these

97. NIGTHINIY ST aRIeR & —

(A) Treiffes |TeT — TSl I (B) wrerffes =€t + &A1ol Y

(C) et d5ic &I — Rl goic Ui (D) o FI — Mol gifeqdn
Fiscal Deficit equals —
(A) Primary Deficit — Interest Payment
(B) Primary Deficit + Interest Payment
(C) Total Budget Expenditure + Total Budget Receipt
(D) Revenue Expenditure — Revenue Receipt
98. fHIfhd W ®IF AT BT 3 T ?
(A) @UR Y H g 7 FHferd il ¢ |
(B) YT WY IR WY Pl I H Yeb Hhad &R & |
(C) ofar &1 gfte | I Y Had Agerd dI & § I8l 2 |

(D) ITar I @ WA § el @i iR Yo @rar e g g |

Which of the following statement is False ?

(A) Visible items are included in Balance of Trade.

(B) Balance of Payment is a narrow concept in comparison of Balance

of Trade.
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99.

100.

(C) From accounting point of view, Balance of Payment is always
balanced.
(D) Current account and Capital Account are included in Balance of

Payment

foreiferd o o9 91 HUF I 2 |

(A) SHUTEH FRTIAT Ieh HeT & FAMR Bl & |

(B) Ysirarel sreferavern H fIoil & Td Arduif-e & & As—3f<id Bidl ¢ |
(C) | 3RAfAT B £ |

(D) Setvar @ FHRAT TI9 BT O <l 7 |

Which of the following statement is true ?

(A) Production Possibility curve is parallel to axis.

(B) Capitalist Economy has a co existence of private and public sector.
(C) Resources are unlimited

(D) Scarcity problem gives rise to choice

AT 3TqEN o Td 7 & 9 dia g 2

(A= (B) =
(©) 1o (D) &5 & 51 T

Which of the following is Marginal Opportunity Cost ?

(A= (B) =

(C) MYx (D) None of these

MUy

39



¥uvs—9 / Section-B

oY S 9349 (Short Answer Type Questions)

U T 1 9 30 ofg SNIg U €| fbel 15 YTl & SR © | U YT & forg
2 3 MUiRT €| U® IR 40-50 wrea] H ford | (15x2=30)

Question no. 1 to 30 are Short Answer Type Questions. Answer any 15
questions. Each question carries 2 marks. Write your answer in 40 — 50
words each : (15x2=30)

1. ftc ug gAfe sefemes o gyt R | 2
Define Micro and Macro Economics.
2. JAGA & AEEl Bl 3Hfdhd B | 2
Mention the factors of Production.
3. Gl 3 Wal & 9™ foran | 2
Write the name of two invisible items.
4. UolATQT SrfedeRell ¥ 39 7 |HSK © 2 2
What do you mean by Capitalist Economy ?
5. UoINTd &g &1 faRivyany 9asy | 2
State the characteristics of Capital Expenditure.
6.  ¥Mrd YfoReUT &% T § ? 2
What is Marginal Rate of Substitution ?
7. U PR Td AU PR H AR T N | 2

Differentiate between Direct tax and Indirect tax.
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10.

11.

12.

13.

14.

15.

16.

17.

q & g Y fAdeEr S|

Explain the Law of Demand.

faferr <=0 @1 gWIfdd =1 arel &1 T<al &l a8y |
Mention the two factors influencing Exchange Rate.
aRadeier aruTd & g @ sraveny iRy |

Write the stages of Law of Variable Proportion.
TSI Tl & gk < |

Define Revenue Receipts.

fhef) g BT AHRI 9 B AT ST © 2

When is a good considered a normal good ?

TG AT a6 9T © 2
What is Production Possibility Curve ?
TR B = AR Fa1 7§ ?

What are the main characteristics of tax ?

At &1 favg &I fad==T Sy |

Discuss the point of Inflexion.

AMfed SRS =T © 2

What is Involuntary Unemployment ?
SERAFAT I b P € ?

What is Indifference Curve ?
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18.

19.

20.

21.

22.

23.

24.

25.

26.

27.

AMfEd JRT &I ARAT HIIY | 2

Explain Aggregate Demand.

AT 3T AT HHT 3ITH & 9 G- D] IR HIfoTT | 2

Explain the relationship between Average Revenue and Marginal

Revenue.

JfeRe ART A a1 AT 7 7 2
What is Excess Demand ?

Al e gd et e § R e o | 2
Differentiate between Gross Investment and Net Investment.

oof R B aRIfE | 2

Define Perfect Competition.

U fg—erig Seieawel § 3 &7 Jdhig YdTe §9eiey | 2
Explain the circular flow of income in a two sector economy.

SUHIT a3l T YoiTd qegall H 3R W P | 2
Differentiate between Consumer goods and Capital goods.

Aol TS T B 0T | b= 7l &l It =781 fhar <iar g 2 2

In the calculation of Gross National Income which items are not

included?
A =01 & U Ieedl B guie o | 2
Explain the main objectives of credit control.

A= gord ggia dom A= IUMRT g § Rl aa18y | 2
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28.

29.

30.

Express the relationship between Marginal Propensity to Save and

Marginal Propensity to Consume.

JIfR® ART & HHT WR TR FIT J9G ISl 2 2 2
What is the effect of excess demand on Price level?

SR goTe @7 afRuTeT < | 2
Define Gender budget.

fdra g & 3T AT | 2
Give two examples of Development Expenditure.

<" ST 939 (Long Answer Type Questions)

U AT 31 ¥ 38 WY S U 2| fhel 4 U & SR S | UAd & folU 5
3 uiRa € | U® IR 100—120 FET H T | (4x5=20)

Question no. 31 to 38 are Long Answer Type Questions. Answer any 4

questions. Each question carries 5 marks. Answer in 100-120 words each.

31.

32.

33.

(4x5=20)
qul UirRraT R 2 ? qol i @ faRarg qarsy | 5
What is Perfect Competition ? Explain the Characteristics of Perfect
Competition.
IR BIAT IR FHR HIHT H 3R DI | 5

Differentiate between Market Price and Normal Price.
FARE R & ATAR AJHIRAT & IR Y &F] BT 0T DN | 5

According to Macro Economics describe the four major sectors in an

economy.

43



34.

35.

36.

37.

38.

A SUAIRAr Ud fd SUAIREAr & d9 & §ag @l fddaer diford gd
G B AETIAT DI | 5

Explain the relationship between Marginal Utility and Total Utility with

the help of a Schedule and Diagram.
MY & ThIT YaTg H URUT 3N &RUT Bl TR I AT BT | 5

Explain the concept of injections and leakages in Circular Flow of
Income.

QI8 TTUMET ¥ 39 T FHS & © 59 DY X fhal O Ahdl & ?

What do you mean by Double Counting ? How the problem can be

solved?

DT §p b JA~TH T ST D DI Bl W DT |

Explain the lender of last resort function of the Central Bank.

faaeft faffma gr MR & 97 vd gfd Rigr & @mrar ifom |

Discuss the Demand and Supply Theory of Foreign Exchange rate

determination.
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